A input multiple alignment: C states for 3 guide tree nodes:
[structure] . ::<<<::::>:>>:<<:<.:::1 . >>>,
human . AAGACUUCGGAUCUGGCG.ACA .CCC. Mysoﬁmss
mouse aUACACUUCGGAUG-CACC.AAA.GUGa MATP/A6
orc AGGUCUUC GCACGGGCAgCCAcUUC ‘\
1 10 25 28
ﬁ»' VAV.
(1L 54] 7 ~“ [ 1R 55]
B example structure guide tree: ROOT 0 .‘ ‘ 7
(human): oML " 7
3 MBA”T:L :23 MP56|ML57|MR58|D59|
BEGL 4 BEGR 14 MATP 17
4qMATP_5p14 15 MATL 15 < !-'L 5 e
5{MATP_6p13 164 MATP 16 p27
MATR 7: 12 174 MATP 17 p26
6 MATP_8p11 18 MATL 18
7{MATL 9 194 MATP_19 Q5 ML 62
8<| MATL 10 21<[ MATL 20
9 MATL 11 22 MATL 21 MATL 18
10<| MATL 12 23<| MATL 22
END 13 END 23




